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Lezrn the Strategy

Ismail nas 0.24 of a dirham. How many
differcnt combinations of cains could he have?

Unrlerstand

What facts do you know?

lsrmail faas - ﬂ'_ ol & ditham.

What do you need to find?
the number of possibla coin combinations

@Plaﬂ

| will raake &n organized list 0 solwe the problem.

J Solve

|« 2MW+hiscains, 4 1Hils cans « 4 Efis coins, 4 1.8z coine . 24 1415 cains

024 af adifam = 24 fis

« 11040k coin, 2 Bt coins, 4 18 coins . 2 Bz coins, O s oo = 110t coing 14 188 coins
« 10 s oaim, 154 coin, 9 1fls cains . 2 54scoins, Midiscoins . 15-fils cain, Hiks con

| There are - TR Goorent combinalions.

Check

- Does your answer make sense? Explain.
zample answer: yes: Al cumhtmtmns have been accounted for.

! sl ety halp

i el @ ul-wadid |
- problams?

Lessan7 303


https://telegram.me/MathematicsMM4

Practice the Strategy

Salem has three cats. One has a mass of 4,523 g. One

has a mass of 5,012 g. One has a mass of 4,702 g. If Salem
picks up two of the cats a1 once, what are the possibie total
Midses Inad Sadean & caitping:

{ ‘| Understand

V-hat facts do you know? |
3dlem has 3 cats. Their masses are 4,523 9, 5,012 g, and 4,702 g.

V-hat do you need to find? l
the possible total masses of two of the cats |

7 Plan

| will make an organized list to solve the problem,

5} Solve

F:ad all combinations. _
» 45239 +50129=9535¢ ¥
« 45239+ 47029=19225¢ ;
« 50129 +4702g =94 g :
32, the possible tolal masses are 9,535 ¢, 9225 g, and 9.7 ¢. :

2 Check

Daes your answer make sense? Explain.
S+mple answer: yes; There are only three

e iyl i G

! possible combinations.

b - p——

90> Chapter 14 Mreasurement and Metric Units
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Apply the Strategy
Solve each problem by making an organized list

Mathematical
1 practics Malke a Plan Buthaina has v Rk

036 of a drham. How many different combinations
of coing oowld she fawe?

& combinations

2. There weng Thiee races at the track meet. The
dislanoes were 100 m long, BOO m long, and
3200 i b, Suppess Halima ran two of

e races Whal are e possilic 10bal dislances
Al shie ren?

900 m._lEH:IIEI m, and 4.1](]1_] m

3. Hareb has 3,700 mL of lemonade ina pilohsd
He has three cugs. Their capacilses are 320 mL.

495 mil. and 583 ml. Suppose Hareb fills two
af the cups. What are the possible capacites

al lemonade that he could heave BT o e
pite e ?

2 BB5mL, 2797 mL. and 2,622 mL

4. Jemal has 018 of a dirbam. How many possible
combinations of coins could he heva?

6 combinations

B. Khslal has fow pieces of clay to make a clay pol

The masses af the pieces are 10 g, 15 g, 20 g, and
14 g. M he wses three of the pieces, whal are the

possible lolal masaes of the clay pot?
450.390.440,49¢

Hiim=H -y

Igwnd

Lasson 7 Problom-Solving Investigation 305
_—




Use any strategy to

« Moo an organiood st

Review the Strategies / solve cach probiem.

] o [=ipmen Chock, and
6. Thers gre thres rees. Tha cpoond rae ig el a8 A T '

tedl & the first. The third tree is taller than the . Find pedra ar missing
second iree and shorler than the first trese. The riamatan
total height of the frées is 24 m. What = By height + IUse lagical opsoning.

1/

of each tren?

5 "'i:"::- £y I.':-]-l

MWm.5m 9m

1. There aié hree line<. The fist Ine s 3 limes &8 ong
as e Sescnnd The second ine S 4 m longes than
Eive third. The third line = 2 m ong. How lomng i he
frst line?

1B m

B. Rang has 5 ooins that tolal 62 Nk Whatl are the cons?

two 25-fils coins, ane 10-fils coin, and

two 1-fils coins

Mathematical
9 Practics ¢ Model Math Tarek, Amer, Abdatia,

and Obaid are going hiking in pairs. How many Sferent
pairs of hiking panners ane possige? Lit them.

6; Tarek - Amer _Amer - Abdalla
Tarek - Abdalla Amer = Obaid
Tarek - Obaid Abdalla - Obaid

906 Chapterld Measurement and MetricUnits
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@‘ P roblem Solving

Sobwe each problem by making an organized fist

1. Abdulreds=em's bathiub & clogged He has 1o emply 30 L

of waler by hand, Abduiraheem bas a 3L, ad L and a
5 L bucket i Abdul afhesm carries wo buckels sach g,

whel combisations ol sizes allow him Lo empty the bathiuby
iny exactly four trgs?

5L+3L,5L+3L,3L+4L and3L+4l

2. Maral s raining Tor a Bicyele race. Each week she rides

a lotal distence greater than W ke and bess than or equal
to 30 k. IF thes distance is slways an even number and a

I'I'I'IJ?Ii|'.'I|.-E- al 3, whal ate the possible distanoes Mangl ndeg
i e wemak?

Mathematical
Practice Keep Trying Fatheya's bulletis
beard is 40 cmowides, Each of hes ribbons is 4 cm owide,

and fas |.'I|'II':I[-I:IE. gre 12 cm wide, What combinations of
tibbors and photes will fit side by side with ne overap
Gk FH“"IE:;‘:'I"'.-. bulletin Board?

3 photos + 1ribbon, 2 photos = 4 ribbons,

1 .;_lrmtu + 7 ribbons, 0 photos + 10 ribbons

. Fawzis buys 4 pack of crackers far 75 fils ram the

308

vending maching. She puts one didham in the machine.

Whal combinstion of coins, excluding 16 coins, could
Fawzia get in change?

1 25-fils coin: 2 10-fils coins and a 5-fils coins:

1.10-fils coin and 3 5-fils coins; b 5-fils coins

ay WHe

:-'l*T“-‘h-I



